17, VB = 1.552 & 0], A, B 9] Z+S v2 7] L3t

pous <
(e}
rl\3 s
1o
=
tlo
2
)
ol

>
o
N
w

2,0 | 1,414 1,418 1,421 1,425

2.1 ] 1,449 | 1.453 | 1.456 | 1.459

2.2 11,483 | 1,487 | 1,490 | 1,493

2.3 | 1.517 1.520 | 1.823 | 1.526

2.4 1 1,549 1,552 1,556 1.559

® A:1.517,B: 2.32 @ A:1517,B: 2.41
@A: 1.459, B: 2.41 @ A:1.459,B:2.33

® A:1.414,B:2.03

HoJA 213 & 2Fo™ 1459 o]E& 213 = 1.459 0|1, A
T2 o] 15529 AL Zo D4 2.41 °|E2 241 = 1.552
ot




o % V3 Th4 Abo] o] A5l AL? (B, AFLENA V3 = 1.732
, Vb = 2.236 °|t})
@ # @ V3+3 ® 1.7
V3 +4
@ ‘/5_1 @ 2

Y d ¢ Vaa 4o shed ol




Rel5 V5§ a o, V5 o A% REE b 4% R

o], 3a — 2b + ¢ & F5folgt,
»
> Hg: 4v5-6

B

b=2, c¢c= V5 -2

3a-2b+c¢c=3xV5-2x2+ V5-2
=3vV5-4+4+V5-2
=4v5-6




4. 50 < x < V1005 TE5H= A4 x 9] |45 FL5toizt,
> £

> ®™e: 2

V50 < Va2 < V100 ©]|B2 x2 = 64, 81
Lx=28,9




& AE2e @& 2 W, Vb = 2236 A& o83t

ok

2~
T

D 2000 @ /50000 ® +/0.0005
@«/0.02 ® +0.05

D V2000 = 20 V5
@ /50000 = 100 V5

5 V5
® +0.0005 = T DI

5 5
® +0.05 = ‘/ﬁzﬁ




4V3 Ol A HES ¢, 5-2V3 A BES pt S uf, a+4b
o] ko9

® 4V3+2 @ 4V3+1 ® 43

@ 4v3-1 ®)4V3 -2

4V3 = V48 ,6 < VA8 < 7 0|22

43 o) A= HEL 6,

24 HEO 1 —43-6
—4<-V12<-39°]11<5-+V12<20°]2&
5-2V3 9 AL HESh=1
La+4b=4vY3-6+4=4+3-2




7.

Va o A o] 3 9 o), 444 a o gL BE H

Os57MH @6 @7711 @ 8 7N

7RQ1712

® 9 7

Va = 3.x X
3<Va<4—-9<a<16
L16-9="7 (7N




=35 A Fpog rg AN A BC. D E
e oo mtEA dZ2H 0 5

AL

P=V3+V5,¢g=V3-2,r=+5+2

O A=p, B=g, C=r @A:q,B:p,C:r

® A=q, B=p, D=r @ B=p, C=gq D=r

®B=r, C=p, D=g

B

1) p, g, r & & TAE WA 23

(1 p-g=V3+ \/5_)—(‘/——2)—\/_+2>0.'.p>51
2)g-r=V3-2-(V5+2)=V3-V5-4<0..r>gq
B p-r=V3+V5-(V6+2)=V3-2<0.7r>p

“r>p>gq
At

olct
WA - &, p i B of $1F

i) g= V3-2<0 008 424 0 Hr} 9] G A of

r=VE+2914 VB ME2< VE<3olBRa<r<5




ohe AFTES ol ko] V2004 9 hS FohH?

T 0 1 2 3 4

3.0 | 1,732 | 1,735 | 1.738 | 1.741 | 1,744
4.0 12,000(2,002|2,005]|2,007]| 2,010
5.0 12.230]2.238 | 2.241 | 2,243 | 2.245

® 44.72 @ 34.64 ® 34.70 @ 34.76 @44.76

B

V2004 = V4 x 501= 2 V501
=2x V5.01 x 100
=20+5.01

ZFolZ FoA 5.01 = 2.238

- 20 X 2.238 = 44.76




10. g x o 25 T2y o, ¥ +y* =48 ot} xy o &
F-stoqzt
> =
[>§E.w:6

S5 ~
y £ AFo|B2 y2 <1,
62<48<T7290|BE2 6<x<T
T x=6+y
P +y? = (6+y)*+y* =48
y2+6y-6=0
y>00°]|B& y=+15-3
x=6+y=6+ V15-3= V15+3
w2bA xy = (V15 + 3)( V15 - 3) = 6 ©]t},




